COUNCIL BUDGET AND SETTING OF THE COUNCIL TAX FOR 2023/24

Appendix 2 - Tax Tables 2023/24

TABLE A

COUNCIL TAX BASE 2023/24

PARISH / SPECIAL EXPENSE AREA	COUNCIL TAX BASE
Barcombe	646.0
Chailey	1,436.7
Ditchling	1,143.2
East Chiltington	199.8
Falmer	69.7
Firle	123.4
Glynde & Beddingham	184.0
Hamsey	294.4
Iford	94.4
Kingston	424.0
Lewes	6,210.5
Newhaven	3,855.6
Newick	1,118.7
Peacehaven	4,977.7
Piddinghoe	128.1
Plumpton	697.8
Ringmer	2,067.2
Rodmell	213.3
St Ann Without	40.2
St John Without	27.4
Seaford	9,556.3
Southease	22.5
South Heighton	277.1
Streat	83.5
Tarring Neville	9.1
Telscombe	2,545.2
Westmeston	162.2
Wivelsfield	1,231.3
TOTAL	37,839.4

TABLE B

TOWN AND PARISH COUNCIL PRECEPTS AND TAX BASES 2023/24 AND PRIOR YEAR

	2022/23						
	Council Tax	Council Tax	Band D				
Town/Parish	Precept	Base	Council Tax				
	£	Dase	£				
Barcombe	32,190	634.4	50.74				
Glynde/Beddingham	11,854	182.3	65.02				
Chailey	68,388	1,385.1	49.37				
Ditchling	110,156	1,120.2	98.34				
East Chiltington	7,920	196.5	40.31				
Falmer	500	67.6	7.40				
Firle	10,500	124.3	84.47				
Hamsey	18,215	279.1	65.26				
Iford	250	89.6	2.79				
Kingston	50,000	424.6	117.76				
Lewes	1,259,778	6,049.6	208.24				
Newhaven	579,241	3,638.4	159.20				
Newick	68,196	1,103.6	61.79				
Peacehaven	687,081	4,752.6	144.57				
Piddinghoe	10,967	126.1	86.97				
Plumpton	63,885	677.7	94.27				
Ringmer	130,924	1,950.4	67.13				
Rodmell	14,800	214.2	69.09				
St Ann Without	0	39.6	0.00				
St John Without	0	27.1	0.00				
Seaford	1,044,965	9,406.7	111.09				
Southease	0	22.9	0.00				
South Heighton	13,646	255.4	53.43				
Streat	5,415	80.2	67.52				
Tarring Neville	0	9.7	0.00				
Telscombe	261,489	2,498.8	104.65				
Westmeston	13,000	160.5	81.00				
Wivelsfield	101,158	1,209.4	83.64				
	4,564,518	36,726.6	124.28				

2023/24							
Council Tax Precept	Council Tax Base	Band D Council Tax					
£	Dase	£					
33,764	646.0	52.27					
13,568	184.0	73.76					
79,000	1,436.7	54.99					
110,893	1,143.2	97.00					
8,059	199.8	40.33					
1,000	69.7	14.35					
11,000	123.4	89.17					
18,215	294.4	61.86					
49	94.4	0.52					
55,050	424.0	129.84					
1,363,742	6,210.5	219.59					
595,380	3,855.6	154.42					
68,537	1,118.7	61.26					
749,213	4,977.7	150.51					
11,515	128.1	89.88					
73,273	697.8	105.01					
157,084	2,067.2	75.99					
15,466	213.3	72.52					
0	40.2	0.00					
0	27.4	0.00					
1,061,609	9,556.3	111.09					
0	22.5	0.00					
14,486	277.1	52.27					
5,423	83.5	64.91					
0	9.1	0.00					
282,261	2,545.2	110.90					
13,000	162.2	80.13					
122,120	1,231.3	99.18					
4,863,707	37,839.4	128.54					

(Average) (Average)

TABLE C

COUNCIL TAX 2023/24 - DISTRICT EXPENSES AND SPECIAL ITEMS

BAND 'D' EQUIVALENTS

PARISH / AREA	DISTRICT EXP'S	PARISH EXP'S	SPECIAL EXP'S	TOTAL BAND D PROPERTY
	£ p	£ p	£ p	£ p
Barcombe	204.10	52.27	0.00	256.37
Chailey	204.10	54.99	0.80	259.89
Ditchling	204.10	97.00	0.00	301.10
East Chiltington	204.10	40.33	0.00	244.44
Falmer	204.10	14.35	0.00	218.45
Firle	204.10	89.17	0.00	293.27
Glynde & Beddingham	204.10	73.76	0.00	277.86
Hamsey	204.10	61.86	0.00	265.96
Iford	204.10	0.52	0.00	204.62
Kingston	204.10	129.84	0.00	333.94
Lewes	204.10	219.59	56.90	480.59
Newhaven	204.10	154.42	36.06	394.58
Newick	204.10	61.26	0.00	265.36
Peacehaven	204.10	150.51	8.51	363.12
Piddinghoe	204.10	89.88	0.00	293.98
Plumpton	204.10	105.01	0.00	309.11
Ringmer	204.10	75.99	2.20	282.29
Rodmell	204.10	72.52	0.00	276.62
St Ann Without	204.10	0.00	0.00	204.10
St John Without	204.10	0.00	0.00	204.10
Seaford	204.10	111.09	6.32	321.51
Southease	204.10	0.00	0.00	204.10
South Heighton	204.10	52.27	0.00	256.37
Streat	204.10	64.91	0.00	269.01
Tarring Neville	204.10	0.00	0.00	204.10
Telscombe	204.10	110.90	23.37	338.37
Westmeston	204.10	80.13	0.00	284.23
Wivelsfield	204.10	99.18	0.00	303.28

TABLE D

COUNCIL TAX 2023/24 - DISTRICT, PARISH AND SPECIAL EXPENSES BY AREA AND VALUATION BAND

PARISH / AREA	BAND A	BAND B	BAND C	BAND D	BAND E	BAND F	BAND G	BAND H
	£ p	£ p	£ p	£ p	£ p	£ p	£ p	£ p
Barcombe	170.91	199.40	227.88	256.37	313.34	370.31	427.28	512.73
Chailey	173.26	202.14	231.01	259.89	317.64	375.39	433.15	519.78
Ditchling	200.74	234.19	267.65	301.10	368.01	434.93	501.84	602.21
East Chiltington	162.96	190.12	217.28	244.44	298.75	353.07	407.39	488.87
Falmer	145.64	169.91	194.18	218.45	267.00	315.55	364.09	436.91
Firle	195.51	228.10	260.69	293.27	358.44	423.61	488.79	586.54
Glynde & Beddingham	185.24	216.11	246.98	277.86	339.60	401.35	463.09	555.71
Hamsey	177.31	206.86	236.41	265.96	325.07	384.17	443.27	531.93
Iford	136.41	159.15	181.88	204.62	250.09	295.56	341.03	409.24
Kingston	222.63	259.73	296.84	333.94	408.15	482.36	556.57	667.88
Lewes	320.39	373.79	427.19	480.59	587.38	694.18	800.98	961.18
Newhaven	263.05	306.89	350.74	394.58	482.26	569.95	657.63	789.16
Newick	176.91	206.39	235.88	265.36	324.33	383.30	442.27	530.73
Peacehaven	242.08	282.43	322.78	363.12	443.82	524.51	605.21	726.25
Piddinghoe	195.99	228.65	261.32	293.98	359.31	424.64	489.97	587.96
Plumpton	206.07	240.42	274.77	309.11	377.80	446.49	515.18	618.22
Ringmer	188.19	219.56	250.92	282.29	345.02	407.75	470.48	564.58
Rodmell	184.41	215.15	245.88	276.62	338.09	399.56	461.03	553.24
St Ann Without	136.07	158.75	181.42	204.10	249.46	294.81	340.17	408.20
St John Without	136.07	158.75	181.42	204.10	249.46	294.81	340.17	408.20
Seaford	214.34	250.06	285.79	321.51	392.96	464.40	535.85	643.02
Southease	136.07	158.75	181.42	204.10	249.46	294.81	340.17	408.20
South Heighton	170.92	199.40	227.89	256.37	313.34	370.32	427.29	512.75
Streat	179.34	209.23	239.12	269.01	328.80	388.58	448.36	538.03
Tarring Neville	136.07	158.75	181.42	204.10	249.46	294.81	340.17	408.20
Telscombe	225.58	263.18	300.78	338.37	413.57	488.76	563.95	676.74
Westmeston	189.49	221.07	252.65	284.23	347.39	410.56	473.72	568.46
Wivelsfield	202.19	235.89	269.58	303.28	370.68	438.07	505.47	606.56

TABLE E

COUNCIL TAX 2023/24 - ESFA, SPCC, ESCC BY AREA AND VALUATION BAND

MAJOR PRECEPTOR	BAND A	BAND B	BAND C	BAND D	BAND E	BAND F	BAND G	BAND H
	£ p	£ p	£ p	£ p	£ p	£ p	£ p	£ p
East Sussex Fire Authority (ESFA)	69.58	81.18	92.77	104.37	127.56	150.76	173.95	208.74
Sussex Police and Crime Commissioner (SPCC)	159.94	186.60	213.25	239.91	293.22	346.54	399.85	479.82
East Sussex County Council (ESCC)	1,129.20	1,317.40	1,505.60	1,693.80	2,070.20	2,446.60	2,823.00	3,387.60

TABLE F

TOTAL COUNCIL TAX 2023/24 - BY AREA AND VALUATION BAND

PARISH / AREA	BAND A	BAND B	BAND C	BAND D	BAND E	BAND F	BAND G	BAND H
	£ p	£ p	£ p	£ p	£ p	£ p	£ p	£ p
Barcombe	1,529.63	1,784.57	2,039.51	2,294.45	2,804.33	3,314.20	3,824.08	4,588.90
Chailey	1,531.98	1,787.31	2,042.64	2,297.97	2,808.63	3,319.29	3,829.95	4,595.94
Ditchling	1,559.46	1,819.37	2,079.28	2,339.18	2,859.00	3,378.82	3,898.64	4,678.37
East Chiltington	1,521.68	1,775.29	2,028.90	2,282.52	2,789.74	3,296.97	3,804.19	4,565.03
Falmer	1,504.36	1,755.08	2,005.81	2,256.54	2,757.99	3,259.44	3,760.89	4,513.07
Firle	1,554.24	1,813.27	2,072.31	2,331.35	2,849.43	3,367.51	3,885.59	4,662.71
Glynde & Beddingham	1,543.96	1,801.29	2,058.61	2,315.94	2,830.59	3,345.24	3,859.90	4,631.88
Hamsey	1,536.03	1,792.03	2,048.04	2,304.04	2,816.05	3,328.06	3,840.07	4,608.09
Iford	1,495.13	1,744.32	1,993.51	2,242.70	2,741.08	3,239.46	3,737.84	4,485.40
Kingston	1,581.35	1,844.91	2,108.46	2,372.02	2,899.14	3,426.25	3,953.37	4,744.04
Lewes	1,679.11	1,958.96	2,238.82	2,518.67	3,078.37	3,638.08	4,197.78	5,037.34
Newhaven	1,621.77	1,892.07	2,162.36	2,432.66	2,973.25	3,513.84	4,054.43	4,865.32
Newick	1,535.63	1,791.57	2,047.51	2,303.45	2,815.32	3,327.20	3,839.08	4,606.89
Peacehaven	1,600.80	1,867.60	2,134.41	2,401.21	2,934.81	3,468.41	4,002.01	4,802.41
Piddinghoe	1,554.71	1,813.83	2,072.94	2,332.06	2,850.30	3,368.53	3,886.77	4,664.13
Plumpton	1,564.79	1,825.59	2,086.39	2,347.19	2,868.79	3,390.39	3,911.99	4,694.38
Ringmer	1,546.91	1,804.73	2,062.55	2,320.37	2,836.01	3,351.65	3,867.29	4,640.74
Rodmell	1,543.13	1,800.32	2,057.51	2,314.70	2,829.08	3,343.46	3,857.83	4,629.40
St Ann Without	1,494.79	1,743.92	1,993.05	2,242.18	2,740.45	3,238.71	3,736.97	4,484.36
St John Without	1,494.79	1,743.92	1,993.05	2,242.18	2,740.45	3,238.71	3,736.97	4,484.36
Seaford	1,573.06	1,835.24	2,097.42	2,359.59	2,883.95	3,408.30	3,932.65	4,719.18
Southease	1,494.79	1,743.92	1,993.05	2,242.18	2,740.45	3,238.71	3,736.97	4,484.36
South Heighton	1,529.64	1,784.58	2,039.51	2,294.45	2,804.33	3,314.21	3,824.09	4,588.91
Streat	1,538.06	1,794.41	2,050.75	2,307.10	2,819.78	3,332.47	3,845.16	4,614.19
Tarring Neville	1,494.79	1,743.92	1,993.05	2,242.18	2,740.45	3,238.71	3,736.97	4,484.36
Telscombe	1,584.30	1,848.35	2,112.40	2,376.45	2,904.55	3,432.66	3,960.76	4,752.91
Westmeston	1,548.21	1,806.24	2,064.28	2,322.31	2,838.38	3,354.45	3,870.52	4,644.63
Wivelsfield	1,560.91	1,821.06	2,081.21	2,341.36	2,861.67	3,381.97	3,902.27	4,682.72

TABLE G

EFFECT ON BAND D COUNCIL TAX BY PERCENTAGE 2023/24

PARISH / AREA	DISTRICT	PARISH/ TOWN	SPECIAL EXPENSES	East Sussex Fire Authority	Sussex Police and Crime Commissioner	East Sussex County Council	TOTAL OVERALL CHANGE
Barcombe	1.00%	3.00%	0.00%	5.03%	6.67%	4.99%	4.75%
Chailey	1.00%	11.37%	-1.23%	5.03%	6.67%	4.99%	4.94%
Ditchling	1.00%	-1.36%	0.00%	5.03%	6.67%	4.99%	4.52%
East Chiltington	1.00%	0.07%	0.00%	5.03%	6.67%	4.99%	4.70%
Falmer	1.00%	94.06%	0.00%	5.03%	6.67%	4.99%	5.10%
Firle	1.00%	5.56%	0.00%	5.03%	6.67%	4.99%	4.82%
Glynde & Beddingham	1.00%	13.43%	0.00%	5.03%	6.67%	4.99%	5.04%
Hamsey	1.00%	-5.21%	0.00%	5.03%	6.67%	4.99%	4.49%
Iford	1.00%	-81.40%	0.00%	5.03%	6.67%	4.99%	4.68%
Kingston	1.00%	10.26%	0.00%	5.03%	6.67%	4.99%	5.07%
Lewes	1.00%	5.45%	0.35%	5.03%	6.67%	4.99%	4.74%
Newhaven	1.00%	-3.01%	-2.78%	5.03%	6.67%	4.99%	4.14%
Newick	1.00%	-0.86%	0.00%	5.03%	6.67%	4.99%	4.63%
Peacehaven	1.00%	4.11%	-1.62%	5.03%	6.67%	4.99%	4.72%
Piddinghoe	1.00%	3.35%	0.00%	5.03%	6.67%	4.99%	4.73%
Plumpton	1.00%	11.40%	0.00%	5.03%	6.67%	4.99%	5.07%
Ringmer	1.00%	13.20%	-2.65%	5.03%	6.67%	4.99%	5.04%
Rodmell	1.00%	4.96%	0.00%	5.03%	6.67%	4.99%	4.79%
St Ann Without	1.00%	0.00%	0.00%	5.03%	6.67%	4.99%	4.79%
St John Without	1.00%	0.00%	0.00%	5.03%	6.67%	4.99%	4.79%
Seaford	1.00%	0.00%	1.44%	5.03%	6.67%	4.99%	4.54%
Southease	1.00%	0.00%	0.00%	5.03%	6.67%	4.99%	4.79%
South Heighton	1.00%	-2.17%	0.00%	5.03%	6.67%	4.99%	4.62%
Streat	1.00%	-3.86%	0.00%	5.03%	6.67%	4.99%	4.52%
Tarring Neville	1.00%	0.00%	0.00%	5.03%	6.67%	4.99%	4.79%
Telscombe	1.00%	5.98%	1.17%	5.03%	6.67%	4.99%	4.81%
Westmeston	1.00%	-1.07%	0.00%	5.03%	6.67%	4.99%	4.58%
Wivelsfield	1.00%	18.58%	0.00%	5.03%	6.67%	4.99%	5.31%